TEST » 7 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)

3 .
e e L 2<x <t

3
) The element of solution set of inequation —2 <X < 5 is:

W % (B) 5 €3 )0
ll) The solution set of [X—4{=—41is —cesf¥x—4=—4
(A) ) (B) 8 ()-8 (D) -16
I1) Which of the following-number is a solution of inequality 3—4x <11 ‘a..:.{d"( 3—4x<1 louu/ému/z, oedses AN
(A) -8 (B) -2 ) -4 (D) None L0
IV) The solution set of 3x-9=3 is : ‘e SE3x-9=3 (IV
(A) 3 (B) 4 (C) 6 (D)9
V) Points of origin are: _ug;ub/fifbgf (v
(A) (0,0) (B) (1,1) (C) (0,1) (D) (1,0)
VI) x=3 is parallel to axis. -L/»(i < $i#x=3 (VI
(A) X (B) y (C) both Ushs (D) None L0
Attempt the following questions. 2X7=14 -Q‘/J’/.:«Ulrd sounr | K@ /,‘U’r‘
1) Solve the equation.  ————=" 58 g e A
I1) Find solution set of |4x+5‘:|8x—3‘ [4x+5|=[8x—3] _Q/'/(J’“‘:{J’ n
x-3 x-2 x-3 x-2
el i il S
) Soive. — S : 5 A
IV) Solve the equation.  3/3x+5 =3/x—1 Y3x+5=3/x-1 g/ el (V
V) Solve the inequation 3x+1<5x—4 3x+1<5x—4 SIS ehld (v
VI) Draw the graph. ~ y=2x y=2x -u Lo (v
VII) Define abscissa. g3 e (VI
Attempt the following questions. 5X3=15 _uj)/d’/owrd Py 3l (3 /:‘U’r‘
3x+2 2x+1 .
1) Solve the inequality x; - x; =i SIS end (4
2) Solve the equation. AL U g e (2
2x+5 2

e A DL S Lt S LT (3

3) Triangles on the same base and of the same (i.e., equal) altitudes are equal in area.



